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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) FEF 5 & qHft TN B} FHGR 0 GrE 5T FHo |

Solve all parts of a question consecutively together.
(iii) FA4% J77 F1 79 98 & IRB7 Hi? |

Start each question on fresh page.
(iv) 1 STTaTl B 31~ 817 %1 R4l 7 3571 argare & ar=r & 1

Only English version is valid in case of difference in both the languages.

1. frafaRea 1 |y 3 s Afvm

Answer the following in brief :

(i) wiETHIAE
Objects of costing
(i) I% TH
Work Docket
(i) wfa=e e
Hourly rate
(iv) o ud g1 @
Profit & Loss Account
(v) dr e
Stitching (2x5)
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What do 'you understand by costing ? Explain the salient features of federation costing
system. (12)

e ¥ 4T TE ST 38 HH P UG IETEWT Hied Fewrd hifsrT |

Explain directly chargeable labour and indirectly chargeable labour with suitable
examples. . (12)

240 98I I 2000 fifean Farel args whwt 80 Sft.wa.wH. Hs R qfid F0 & fore 5y
= Tifem A1g 3 H 6 Ha ) T R SEfn SIS % e T 45 gfar fereum
21

Calculate the total cost of double medium sized paper required for printing 2000
copies of medium Quarto size books having 240 pages on 80 GSM offset paper, when
the price of the paper is ¥ 45/i(g. : (12)

FHaT oy Eﬁ'ﬁﬂq :
Differentiate between
() A-TAPTE IR FEA-AF
Variable cost and Fixed cost
(i) T IR A
Cost & price (6+6)

Fft TR 3T TETAH 1 fereamgde ferawor Hife | ,
Explain copy fitting and costing off in detail. o (12)

m%ﬁﬁm»mé,mﬁmlm%mmmmﬁmﬁﬁﬁa
g/ FSTR <Y g ot SR |

Explain, how estimating is done. List out the various tools used by an Estimator. (12)

"t feufrf fafex :
Write short notes :
() TE-@HE T TS
Maintenance & Administrative Expenses
i) Trnfom e eifirifea s
Budgeted & Recorded cost (6+6)



